Item no.

30

40

50

60

70

80

90

100

100

110

120

130

140

150

310

320

330

340

350

360

370

Mode :

- Parts list -

MD mode FIN/MD :

Catalog no. : 66U VIN :

Major assembly :
Major assembly MD :
Group :

Subgroup :

Part number

A 004 994 16 45

N 910143 006001

A 001 990 82 58

A 203 740 03 37

A 203 740 04 37

A 414 990 00 51

N 000000 004310

A 203 980 05 64

A 203 980 07 64

A 168 991 00 15

A 203 740 06 78

A 201 987 04 40

A 203 742 00 11

A 203 790 02 88

A 203 740 07 05

A 203 740 23 70

A 004 994 16 45

N 910143 006001

A 001 990 82 58

A 203 740 03 37

A 203 740 04 37

Assortment class :
74 - REAR PANEL DOOR Market :
015 - REAR PANEL DOOR

Designation/description

LOCK NUT

TO PANELING M6

BOLT

PANELING TO INTERIOR PART M6X16
RIVETED NUT

PANELLING

HINGE

LEFT

HINGE

RIGHT

NUT

ROOF FRAME HINGE M6

BOLT

HINGE TO REAR PANEL DOOR M6X10
GAS-OPERATED SPRING

REAR PANEL DOOR

Replaced by: A 203 980 07 64
—.|[012, 013, 014] From Chassis: E 060001 From Date: 01/08...
GAS-OPERATED STRUT

REAR PANEL DOOR

J[O']Z] From Chassis: E 060001 From Date: 01/08/2008 E...
BALL PIVOT

PNEUMATIC SPRING TO REAR PANEL
DOOR

SEAL

REAR PANEL DOOR

Optional with: A 203 740 02 78
RUBBER BUMPER

AT TRUNK LID, BOTTOM

PLATE

SPOILER

TAILGATE

Code: 950

J[901] Color footnote

DOOR SHELL

J[O']S] From Chassis: E 036504 From Date: 06/12/2007 E...
PANELING

REAR PANEL DOOR

J[015, 420, 900] Color footnote
LOCK NUT

TO PANELING M6

BOLT

PANELING TO INTERIOR PART M6X16
RIVETED NUT

PANELLING

HINGE

LEFT

HINGE

RIGHT

Sales designation :

203731

CLC 160
Car

Europe

Quantity Version

002
002
002
001
001
004

004

002

002

002

001

002

002

001

001

001

002
002
002
001

001

Copyright Daimler AG, 10/03/09, EPC net 1.20.5.1, DW 02/2009 Delta 1

Page 1




380

390

400

400

410

420

430

440

450

460

470

A 414 990 00 51

N 000000 004310

A 203 980 05 64

A 203 980 07 64

A 168 991 00 15

A 203 740 06 78

A 201 987 04 40

A 203 742 00 11

A 203 790 02 88

A 203 740 12 93

A 203 743 01 93

NUT

ROOF FRAME HINGE M6

BOLT

HINGE TO REAR PANEL DOOR M6X10
GAS-OPERATED SPRING

REAR PANEL DOOR

Replaced by: A 203 980 07 64

—.'|[012, 013, 014] From Chassis: E 060001 From Date: 01/08...

GAS-OPERATED STRUT

REAR PANEL DOOR

J[O']Z] From Chassis: E 060001 From Date: 01/08/2008 E...
BALL PIVOT

PNEUMATIC SPRING TO REAR PANEL

DOOR

SEAL

REAR PANEL DOOR

RUBBER BUMPER

AT TRUNK LID, BOTTOM

PLATE

SPOILER

TAILGATE

Code: 950

—.'|[901] Color footnote

HANDLE

AT REAR PANEL DOOR

J[O']S] From Chassis: E 036504 From Date: 06/12/2007 E...
MOULDING TYPE HANDLE

AT REAR PANEL DOOR

J[015] From Chassis: E 036504 From Date: 06/12/2007 E...

004

004

002

002

002

001

002

002

001

001

001

Copyright Daimler AG, 10/03/09, EPC net 1.20.5.1, DW 02/2009 Delta 1

Page 2




